Efficiency vs dr

v 0.05
<
9.045
20.04
c
Q
®.035
=
®0.03
0.025
0.02k -}
0.015f--H}}-
0.01f -t
0.005¢ -
G:

1.2+ —=— DQM_CKF_TTbhase

Ratio

.| —*— DQM_CKF_TT_retrainOldFiles125_v2_prelimWPM_epoch3

1072 107

[y
TTTTTI[TTT T

0.8

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
e

Ratio
N

0.95
—1

1072

=
S
w

1
AR(TP, jét)

Efficiency vs pu

50.02
N S SR TS RO OV S S
e T (N S
D016+t oot
51 L : ] : : : : :
G RGNS S TS
= = : ] : : : : :
R | R L L AR
| SO S N S S

T -
0006 [ b

0.004F 4 [

0.002'—----5 ----- ﬂ#ak##m

|

Ratio

-

40 50 60 70 80 90 100
Pileup

°85730



	Contents
	Page 1


